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Question £ 30 of 30 ( Start time: 10:10:49 AM, 02 July 2020 )

e

Quiz Start Time: 09:57 AM, 02 July 2020

Total Marks: 1

& function V is said to be harmonic if and only if

okt e ot e

Va+ V=0

O
Viy + Vg =10

O
Vie + Vi =10

. correct
Vvt =0

O

Click 1o Save Answer & Move 1o Next Question
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Question £ 28 of 30 ( Start time: 10:09:46 AM, 02 July 2020 ) Total Marks: 1

iffz)=22, then fix+iy)=

S ——

x? — y? 4 By
@)
correct
1 + gy — Brym
O
r* +y!5—21'y:'
@
rt — oyt — 2o
O
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Question £ 23 of 30 ( Start time: 10:08:01 AM, 02 July 2020 ) Total Marks: 1

. . ; m o, .
Given a complex - valued function s{t}, a rotation by an angle 3 1= given by

S ——

ELFE[I"_I

D c‘ﬂFa[t]

. correct

none of the above

Click 1o Save Answer & Move 1o Next Question
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Question # 20 of 30 ( Start time: 10:07:02 AM, 02 July 2020 ) Total Marks: 1
If f approaches two complex numbers Ly = Ly for two different curves or paths through z; then the lim f(z)
I—=&j

S ——

does not exist

O correct
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Question £ 17 of 30 ( Start time: 10:05:51 AM, 02 July 2020 ) Total Marks: 1

The Cauchy - Riemann equations on a pair of real - valued functions of two real vanables u(z, y)
and vz, p) are U; =V, and _

S ——

U, = — V4
O
 ——
O
ty=-"V
O correct
Uy = —V
O
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Quiz Start Time: 09:57 AM, 02 July 2020

Total Marks: 1

Letz=1+I thenarg{z) =

S e et e

/4

O
an/4

O
4m/4

O
/4

O correct
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Question £ 14 of 30 ( Start time: 10:04:05 AM, 02 July 2020 ) Total Marks: 1

lim 3.1'y2 — =
|z yi—+41,2]

St e o e

10

O correct

n
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Question £ 171 of 30 [ Start time: 10:07:19 AM, 02 July I{Iiﬂ} Total Marks: 1

Product of complex numbers (3 + 2i) and (1+7i) is

Select the cormect option

3+9ij

4+9j

-11+23i
. correct

3+14i
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Question £ 3 of 30 ( Start time: 09:58:04 AM, 02 July 2020 ) Total Marks: 1
Let z=T7i, then arg(z) =

S ——

. /4
. correct
O 3
O /6

Click 1o Save Answer & Move 1o Next Question
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Question £ 2 of 30 { Start time: 09:57:21 AM, 02 July 2020 ) Total Marks: 1

By definition, lim f{z) = L means that for every = > 0 there exists a 4 > 0 such that
z—a

S ——

O |flz) — L| < = whenever 0 < |z — z| < &
correcC
D |fiz] — | = £ whenever 0 < |z - L] < §
D |Fiz) — L] = & whenever 0 < |z — | < ¢
O |fl2) — zg| = § whenever 0 < |z — L| <=

< ) # 2]
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MTHG632:Grand Quiz Quiz Start Time: 07:02 AM, 02 July 2020

Question # 17 of 30 { Start time: 0712279 Ak, 02 July 2020 ) Tatal Marks: |

Suppose that lim f(z) = A and lim g(z) = B, then choose the correct option .

Select the correct option 2 Relcad Math Equations

I::] lim ! f{2) + gz} A+ B
O I | f{2) + g(2) A-B
D b | F {2} + g(z) A-B
. A
O _;ll.:l-_l. Fflz)+olz B
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Question # 23 of 30 ( - G4 i . ) Tolal Marks: |

If two complex - valued functions f and g satisfy conditions g (f (z)) = z and f (g (w)) = w,

then these functions are of each aother.

Salect the comect option @ Reload Math Equations

O

rECIptoC =k

none of the above
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MTHE3IZ:Grand Quiz Quiz Start Time: 05:04 PM, 01 July 2020

Question & 17 of 30 [ Start time: 05:71:02 PR, 07 July 2020 ) Tatal Marks: 1

A complex-valued linear transformation is always on the
entire complex plane.

Select the correct option
only one-to-one
O

only onto
@)

one-to-one and onto

2 correct

none of the above

O




Select the correct option
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plex-valued function of the form

correct

quadratic







@ 59% |

arll*l 9:50 AM
Q uiz .
X @ quiz.vu.edu.pk D < *
MC180402225: ASMA BILAL
Quiz 5t

MTH&32:Grand Quiz

Question # 18 of 30 ( Start time: 09:49:03 AM, 01 July 2020 )

The complex numbser
(4i)"

have number of roots.
Select the correct option
O
O
[SESS -3
O
O correct
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Question # 12 of 30 ( Start time: 09:44:20 AM, 01 July 2020 )

Let z = 3, then arg(z) =

Select the correct option
0 degree
correct
60 degree
90 degree
270 degree
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Question ¥ 16 of 30 { Par tme: Fl46:47 AM, 07 July 2020 ) Total Mariks: 1

The Jordan Curve Theorem guarantees that a simple closed curve |
must enclose a region.

Salet thi cOPTECt apban
Euler curve
(@)

‘Jordan curve
O

Simple curve
O

‘Rotation curve
O
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Question ¥ 15 of 30 { Fard e 04600 AM, 07 July 2020 } Total Marks: 1

A complex-valued linear transformation could be a composition of

Salet i cOPTECt apban
translation
0

rotation
O

magnification
0

‘all of the above

o correct
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Question # 10 of 30 ( Start time: 09:41:15 AM, 01 July 2020 )

If -8i = B exp[ i (n/2+2kn) ]. then the root of

for k=1is

Select the correct option

3

-3i

O
O

2

0 correct

-2i
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letz=14; then arg(z) =

T |

Select the Coirect ophion
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O |
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Question # 29 of 30 ( 5 )
IfUand V are harrnnnic’rﬁnctmnstheﬁ fiZ)=U +iV is i
Select the correct option
‘__- . | R e s e e B S el e
|
X "l : —_— —_— —_—
| | 1 not be analytic function
7
i |
| analyti niy-at £= —
O |
i : —
| l! NOne hese
O |
| |




Question # 6 of 30 ( 51,

If-8i=8 expl 1 (-n/2+2kn) |. then the root

for k=0 is

Select the comrect ophon

| ¥ 3
e
\ |
)
| AR
O
AvAi+1)
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Question #f 5 of 30 ( Start time- 081711 AM 01 0t y 2020 )

Harmonic conjugate of #(x, y) = e Cos 1 is

Select the correct option
e Sinx + ¢
—&' SiNx 4+ ¢
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Question £ 22 of 30 ( Start time: 08:34:00 AM, 01 July 2020 ) Total Marks: 1

The Jordan Curve Theorem guarantees that a simple closed
curve must enclose a region.

Select the correct option

Euler curve

O

Jordan curve

correct

Simple curve

Rotation curve
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Question # 18 of 30 ( Start time: 08:30:20 AM, 01 July 2020 ) Thtﬂhlu‘h:l
Mapping is way of visualizing a given function.
Select the cormect option
an analytical
O

a geometrical

> correct

a numerical

none of the above
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MTH632: Grand Quiz Quiz Start Time: 08:10 AM, 01 July 2020

Question £ 24 of 30 ( Start time: 08:35:41 AM, 01 July 2020 ) Total Marks: 1

Any polynomial p(z) = a0 + @iz + a2 4., 4+ 0a2" (s #0), of degree n(n > 1) has least one zero,

Le. there exists at least | '\ '\ '\ _\_\_\_\_\_ z, such that P(z) =0.
Selct he ot ot
n points
10 podnts
ane pcﬂn;
no poanis
ik i Saue Anawer & Mourlo Next Gueation
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Question § 30 of 30 | S1art trne
point.

A point at which a function ceases to be analytic is called a

Select the correct aption

regular
O
non-regular
O
singular
™
L

non-singular

O
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MTH63Z: Grand Quiz Quiz Start Time: 08:10 AM, 01 July 2020
Question £ 1 of 30 { Start time: 08:10:46 AM, 01 July 2020 ) Total Marks: 1
Letz=1+ithenr= .
Select the correct opticn = Reload Math Equations
V2
O correct
¥3
O
2
O
1
O
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Question £ 13 of 30 ( Start time: 08:24:31 AM, 01 July 2020 )

=

Quiz Start Time: 08:10 AM, 01 July 2020

Total Marks: 1

If flz) =27 glz) = 1 then g(f(4)) =

Seet e coct ot
4
O
16
O
 wa
O
1116
. correct
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MTH632: Grand Quiz Quiz Start Time: 08:10 AM, 01 July 2020

Question # 7 of 30 { Start time: 08:18:18 AM, 01 July 2020 ) Total Marks: 1
if fiz)=2", then flx+iy)= g

Select the cormect option = Reload Math Equations

* —y 4+ 2xyi
0 correct
T +y' — 2oy
O
T
O
r* — yli — 2ryi
O
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MTH632: Grand Quiz Quiz Start Time: 08:10 AM, 01 July 2020

Question £ 11 of 30 ( Start time: BI:I_E:HT_AH, 01 .Il.l.'_r 2020 ] B . Total ll.lm‘h:l
If a function f(z) = u(x,y) + iv(x,y) is analytic in a domain D, then
its component functions u and v are in D.

Select the correct option

equal

O

steady

harmonic

> correct

homogeneous
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Question £ 8 of 30  Start time: 08:19:22 AM, 01 July 2020 )

Letz=71ithenr=

C
-«

Quiz Start Time: 08:10 AM, 07 July 2020

Total Marks: 1

correct
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Question # 9 of 30 { Start time: 08:20:00 AM, 01 July 2020 ) Total Marks: 1
I'f Cauchy — Riemann equations are not satisfied at a point z; then function is not at z;.

et

inteqrabie
ﬁi

differentiable

Ll

e

el U Anawer B Mrveto Nead Dlestio
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Question £ 5 of 30  Start time: 08:15:39 AM, 01 July 2020 ) Total Marks: 1
Consider lim f(z) = A and lim g(z) = B. Then lim % = .
=5 =5 5 gz
S ot st
D 4 B+0
B -t
correcC
A+ B
O
A-B
O
A.B
O
Chek i Save Anawer & Roun to Neut Gieatian
< ) = 0
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MTH632: Grand Quiz Quiz Start Time: 08:10 AM, 01 July 2020

Question £ 3 of 30 ( Start time: 08:13:17 AM, 01 July 2020 ) Total Marks: 1

The Cauchy - Riemann equations on a pair of real - valued functions of two real variables ur, y)
and v{x, y) are U, =V, and

Select the cormect option = Refoad Math Equations

ol
D U, =-V;
ol correct
N U, - v,

Olekin Saue Anawer & Mousto Next Duestinn
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oD=EE

Question £ 4 of 30  Start time: 08:14:21 AM, 01 July 2020 )

Sum of complex numbers (3 + 5i) and (4 - 3i) is

R~
e D

Quiz Start Time: 08:10 AM, 01 July 2020

Total Marks: 1

Select the correct option

T+5i

7-3i

7+5i

I+ 2i

correct
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Question £ 2 of 30 ( Start time: 08:12:08 AM, 01 July 2020 ) Total Marks: 1

I fiz) = 5, giz) -, then i) -

St e cormct ot
i
O correct
B
9]
i3
O
-1
O
Click i Saus Answer & Maus o Next Qsating



